SW SERIES




i !ICAN

B £ & B 5% 52 89 Description of Product Model

Gl: SW 063 - F1 - AS - 50 - B3

) °

SW L 22 8t & 3\, MOUNTING TYPE

ISW i 3 Lk RATIO (i)
RUEE BRACKET MODEL NUMBER N AS
F1 o N AB
F2 o N Vs
WET-FEBHIE — ~ B T= R AW
NO “F1” OR “F2” =WITHOUT NO “AS”, “AB” OR “VS” =WITHOUT
OUTPUT MOUNTING FLANGE OUTPUT SHAFT

B R H K Mounting Type

n,
i
gEEg

e

FE
O

048
o
o

TOT

01




I !ICAN

H EZ* Chart

Tﬁ#

F1 F2

— ) — ] 3 N . )
. (e) ON [ ! ! (e) ON ]
—] H— ! ! —] H—
0 ! ! [
— [ T ] _— | - — [ T
B I ! ! — ]
— — 1 1 — —
— — 1 1 —— —
1 — 1 1 1 —
| | 1 | | | i -
R IEna = _:_\ 1 i /_:__ T —

AS | VS

|
|
T
|
|
il

02




CAN

TRANSMISSION

B 28X DataTable
( B21400rpm, 4 HEE For 4 Poles &1400 rpm Motor)

A- FBE® Uniform Loads B- hEHEE®H Midium Shock Loads c- E@EBHE HeavyShocklLoads
BErGHEE Allowable output torques (N.m)
mzEn | B Rk BAEH
0E hE B|X I BB Working hours perday 0-8 | 8K I #EBFBY Working hours per day 8-24
Ny Type (kw) A B C A B c
SW030 0.12 5 5 5 5 5 5
0.18 8 8 8 8 8 8
0.25 1 1 11 11 1 11
SW040
0.37 16 16 16 16 16 16
0.55 25 25 25 25 25 25
SW050
0.75 34 34 34 34 34 31
SW063 1.1 50 50 50 50 50 50
7.5 187 1.5 68 68 68 64 64 57
2.2 100 100 100 90 90 80
SW075
3 137 127 - 127 - -
2.2 - - - 100 100
SWo090 3 - 138 138 138 138 128
4 184 184 168 184 - -
5.5 253 253 253 253 240 213
SW105/110
7.5 345 322 276 322 - -
0.12 7 7 7 7 7 7
SW030
0.18 10 10 10 10 9 8
0.25 14 14 14 14 14 14
SW040
0.37 21 21 21 21 19 17
0.37 - - - - 22 22
SWo050 0.55 32 32 32 32 32 31
0.75 44 44 40 44 -
1.1 65 65 65 65 65 57
SW063
15 89 89 76 89 - -
10 140
1.5 - 90 - 90 88
SW075 2.2 132 132 113 132 99 -
3 180 - - - - -
2.2 - 134 - 134 134
SW090 3 182 182 176 182 154 -
4 243 210 - - - -
4 243 243 243 243 226
SW105/110 5.5 334 334 305 334 267 -
7.5 455 - - - - -
0.12 9 9 9 8 8 7
SW030
0.18 14 12 - 12 - -
0.25 21 21 21 21 19 17
SW040
0.37 31 26 - 26 - -
0.37 - 31 31 31 31 31
SWo050 0.55 46 46 42 46 36 -
15 93 0.75 63 50 - 50 - -
0.75 - 64 64 64 64 62
SWo063 1.1 93 93 79 93 -
1.5 127 - - - - -
1.1 - - 926 926 96 89
SW075 1.5 130 111 130 -
2.2 191 - - - - -

03




CAN

TRANSMISSION

A- FBE®  Uniform Loads B- PEFHEEHE Midium Shock Loads C- EHEAH HeavyShockLoads
B 5 8 H 88 3BAllowable output torques (N.m)
mzEy | B 5 WAR®
BE hE 8 X T {E8% B Working hours perday 0-8 X T {EB¥ B Working hours per day 8-24
i n, Type (kW) A B G A B G
2.2 - 194 194 194 184 163
SW090 3 264 264 211 246 - -
4 352 . - - _ _
15 93
3 - 264 264 264 264 258
SW105/110 4 - 352 321 352 281 -
5.5 484 387 - 387 - -
0.12 12 12 10 12 9 8
SW030
0.18 18 - - - - -
0.25 27 27 23 27 20 18
SW040
0.37 39 - - - - -
0.25 - - 27 - 27 27
SWo050 0.37 - 40 40 40 36 32
0.55 59 47 - 47 - -
0.55 - 61 61 61 61 60
SW063 0.75 83 83 75 83 66 -
20 70
1.1 122 89 - - - -
1.1 - 123 119 123 104 92
SWo075
1.5 168 145 - 145 - -
1.5 - 172 172 172 172 160
SW090 2.2 252 235 201 235 - -
3 344 - - - - -
2.2 - 255 255 255 255 249
SW105/110 3 - 348 318 348 278 -
4 464 371 - - - -
0.12 14 14 12 14 10 9
SW030
0.18 21 _ - - - -
SWo40 0.25 32 25 22 25 19 17
0.25 - 32 32 32 32 31
SW050 0.37 48 48 41 48 36 -
0.55 71 _ - _ - -
0.55 - 73 73 73 65 58
Swoes3 0.75 100 86
86 - - -
25 56
0.75 - 102 102 102 102 90
SWo75 1.1 150 130 11 130 - -
1.5 205 _ - - - -
1.5 - 21 192 21 1 14
SW090 0 9 0 68 9
2.2 308 225 - - _ _
2.2 - 315 315 315 299 266
SW105/110 3 430 401 344 401 - -
4 573 - - _ _ _
SW030 0.12 16 14 12 14 10 9
0.12 - 17 17 17 17 17
SW040 0.18 26 26 26 26 22 19
30 47 0.25 36 31 - 31 - -
0.25 - 36 36 36 36 36
SWo050 0.37 55 55 47 55 41 36
0.55 81 _ - - - -

04




TRANSMISSION

B 28 % DataTable
( B1400rpm, 4 HE For 4 Poles & 1400 rpm Motor)

A- FEBE®H Uniform Loads

B- h&EHEAMH Midium Shock Loads

c- EFB &AM Heavy Shock Loads

BEFRHEBE Alowable output torques (N.m)
BEH ] g BASHE
B hE BERIERE Working hours perday 0-8 | BX TEEFE Working hours per day 8-24
n, Type (kw) A B © A B (&
0.55 - 83 83 83 78 70
SWo63 0.75 114 106 91 106 - -
1.1 167 - - - - -
1.1 - 148 127 148 111 98
30 47 swo7s 1.5 233 - - - - -
1.5 - 239 232 239 203 180
SW090 2.2 351 280 - - - -
2.2 - 356 356 366 320 284
SW105/110 3 485 420 - 420 - -
4 647 - - - - .
SW030 0.12 17 1 9 1 8 7
0.12 21 21 21 21 20 17
Swo040 0.18 32 27 - 27 - -
0.18 - 33 33 33 33 33
SW050 0.25 46 46 44 46 39 -
0.37 68 - - - - -
0.37 - 71 71 71 71 66
SWo63 0.55 105 98 84 98 - -
40 35 0.75 143 - - - - -
0.55 - - 108 - 108 96
SWo75 0.75 - 147 126 147 - -
1.1 216 - - - - -
SW090 1.1 - 225 205 225 180 160
1.5 307 245 - 245 - -
1.5 - 319 319 319 303 269
SW105/110 2.2 468 405 347 405 - -
3 638 - - - - -
SW030 0.06 12 12 10 12 9
0.09 19 19 19 19 19 16
SWo040 0.12 25 25 21 25 - -
0.18 38 - - - - -
SW050 0.18 - 39 39 39 37 33
0.25 54 50 43 50 - .
0.25 - 56 56 56 56 56
50 28 SWo063 0.37 83 83 75 83 66 -
0.55 124 90 - - - -
SWO075 0.55 - 129 117 129 103 91
0.75 177 141 - 141 - -
SW090 0.75 - 184 184 184 165 147
1.1 270 234 200 234 - -
1.1 - 281 281 281 281 262
SW105/110 1.5 384 384 351 384 307 -
2.2 563 412 - 412 - -
SW030 0.09 17 11 9 11 8 7
60 23 0.09 21 21 20 21 17 15
swo4o 0.12 28 24 - 24 - -

05




CAN

TRANSMISSION

A- EBA® Uniform Loads

B- REFBEAM Midium Shock Loads C- EFHEHRM Heavy Shock Loads

B EF 4 H 8 B Allowable output torques (N.m)

mzy | Bl L BABH
BE hE BRIEBE Working hours perday 0-8 | B X L{EEFE Working hours per day 8-24
i n, Type (kW) A B © A B G
0.12 - 29 29 29 29 29
SW050 0.18 43 43 39 43 34 -
0.25 60 - - _ _ _
0.25 - 63 63 63 63 56
SWo063
0.37 94 87 75 87 - -
0.37 - 98 98 98 98 87
60 23
SWo075 0.55 146 136 116 136 - -
0.75 200 - - - - -
0.75 - 212 181 212 159 141
SW090
1.1 311 - - - - -
. - 324 314 324 275 244
SW105/110 1
15 442 383 - 383 - -
SW030 0.06 12 8 7 8 6 5
0.09 26 22 19 22 17 15
SWo040
0.12 34 - - - - -
0.12 - 35 35 35 33 29
SW050
0.18 52 41 - - - -
0.25 78 78 71 78 62 55
SWo063
0.37 15 84 - 84 - -
80 18
0.37 - 121 110 121 96 86
SW75
0.55 180 132 - 132 - -
0.55 - 189 162 189 141 126
SW090
0.75 258 - - - - -
0.55 - - 201 201 201 201
SW105/110 0.75 - 274 274 274 246 219
1.1 402 321 - 321 - -
SW040 0.09 29 19 16 19 14 12
SW050 0.12 40 37 32 37 28 24
SW063 0.25 87 81 69 81 60 54
100 14 SW075 0.37 139 120 103 120 90 80
SW090 0.55 221 176 151 176 132 117
0.75 322 300 257 300 225 200
SW105/110
1.1 473 - - - _ _

Notes: i=speed ratio

n2=output speed R.P.M

06




4
<
<

TRANSMISSION

BHERTE

Single | Double Extension Output Shaft

-~ | © it o | — © 0
- | - | O N N ™o | ™ <
«
-
2| v | © © | ® o | 2 o
o | o o | o ©
fmm - - - - -
= = = = =
-~ | © | x o | o ~ ) <
| Y| o > | - < o N
- | - -~ ~ ~ @ )
N | @ ® | ® o < )
- | o | & 0 ~ o | ™ <
- | - - - - « N
- o o | o 0
™ | © o
O| o | ~|o | o | &) 3|2
~ | L | 4 © © © © ©
o © | ® o | < <
o8| 0 rel © | ® )
m| 2|2 o | o o | o o
® | = 0 ) © | ® @
© | © © | © © | © ©
- o | < ~ K= = K= °
< | «© 0 re) ®© 0 N
- | - 2 ~ Y @ <
o
o | o o | ® v | o -
© | < o | © ~ o | =
o | © o | © o | © -
=
-
~ —
bﬁ s
—| 0
m
< m 1
o
]
Y
-
ol —
/
% 4
< _RNLIRS
@]
o
Y
‘ -
O m

imensions

B R I Bl Reference D

KB
KC

SW-ISW030-105/110

G1

N1

N1

07




CAN

TRANSMISSION

B SW-ISWR~E

Dimensions for SW-ISW

030 040 050 063 075 090 105/110
B 20 23 30 40 50 50 60
(o] 80 100 120 144 172 206 252.5
D(H8) 14 18 25 25 28 35 42
D1(j6) 9 " 14 19 24 24 28
G 55 70 80 95 112.5 129.5 160
G1 63 78 92 112 120 140 155
G2 51 60 74 90 105 125 142
| 30 40 50 63 75 90 110
M 65 75 85 95 115 130 165
N(h8) 55 60 70 80 95 110 130
N1 29 36.5 435 53 57 67 74
T 21 26 30 36 40 45 50
KE M6x11 (n=4) M6x8 (n=4) M8x10 (n=4) M8x14 (n=8) M8x14 (n=8) M10x18 (n=8) M10x18 (n=8)
a 0 45° 45° 45° 45 45° 45°
KA 54.5 72 90 102 102 111 131
KB 6 7 9 10 13 13 15
KC 4 4 5 6 6 6 6
a1 45° 45° 45 45° 45° 45° 45
KM 68 87 90 150 165 175 230
KN(H8) 50 60 70 115 130 152 170
KO 6.5(n. 4) 9(n.4) 11(n.4) 11(n.4) 14(n.4) 14(n.4) 14(n.8)
KP 80 110 125 180 200 210 280
KQ 70 95 110 142 170 200 260
b 5 6 8 8 8 10 12
b1 3 4 5 6 8 8 8
f - - M6 M6 M8 M8 M10
t 16.3 20.8 283 28.3 31.3 38.3 45.3
t1 10. 2 125 16 21.5 27 27 31

08




CAN

TRANSMISSION

B [ & 1B #h R~ Dimensions for Double Extension Worm Shaft

SW

ST 0
- | S| G| e | 2~ ~]| <
w | 9 | N | - | T | N | N | ™o
- | - ~
-
o| | v | w| ©| o o | ©
o
© | © | ©® | o
Y= | -
S| =|=|3=|s3
m| S| 22|22 glc¢9
| &« | ®» | | ®© | | ©
—_
©
. - | | o | | | »
2|9 | -« - | -l &l & «
T
N | o | o| x| w|]o| &9
O <~ | v ]| ©o| N| o> | 22
o
o |l o o| ®| w| ol =
™ | ¥ | v | © | N~ | o | =
o | o | ©o| ©| ©| © | ¥©
o
2
-
Qo
11
[2a]
o
O]

o w ) ) ) o o o)

~ -~ ~ -~ ™ ) )

I © o o =) o o 0

N - -~ A N N N
© 1o} ro) ©

Sl |cls|2|s|s]¢
X ® ® < ™

o < < < < re) 0 o

- - - - BN ~ )

-— 0 o o o o o o

¥ 2 ) S ) S S re]

- - - I 2 Y

o

) ) ) ® 0 o -

© < 0 © ~ o -

=1 =) =] =] =) =] 0

=)

2

O)

0
J J

KG

B HHBR Sizes of Torque Arm
swW

HM

09




CAN

TRANSMISSION

B SAZBEESAMILRTE
Dimensions for Input Flange and
Inpuf Worm Shaft

N
& 3| 8| 8] i
%,
PAM D
IEC N M P 7.5 10 15 20 25 30 40 50 60 80 100
63B5 95 115 | 140 11 11 11 11 11 11 11 11 - - -
63814 60 75 90
swoso 56B5 80 100 | 120 9 9 9 9 9 9 9 9 9 9 -
56B14 50 65 80
71B5 110 | 130 | 160 14 14 14 14 14 14 14 - - - -
71B14 70 85 105
swo4o 63B5 95 115 140 11 11 11 11 11 11 11 11 11 11 11
63814 60 75 90
56B5 80 100 | 120 - - - - - - - 9 9 9 9
80B5 130 | 165 | 200 19 19 19 19 19 19 - - - - -
80B14 80 100 | 120
Swoso 71B5 110 | 130 | 160 14 14 14 14 14 14 14 14 14 14 -
71B14 70 85 105
63B5 95 115 | 140 - - - - - - 11 11 11 11 11
90B5 130 | 165 | 200 24 24 24 24 24 24 - - - - -
90B14 95 115 | 140
SW063 80B5 130 | 165 | 200 19 19 19 19 19 19 19 19 19 - -
80B14 80 100 | 120
71B5 110 | 130 | 160 - - - - - - 14 14 14 14 14
71B14 70 85 105
100/112B5 | 180 | 215 | 250 28 28 28 - - - - - - - -
100/112B14 | 110 | 130 | 160
90B5 130 | 165 | 200 24 24 24 24 24 24 24 - - - -
Swo75 90B14 95 15 | 140
80B5 130 | 165 | 200 - - - 19 19 19 19 19 19 19 19
80B14 80 100 | 120
71B5 110 | 130 | 160 - - - - - - - 14 14 14 14
100/112B5 | 180 | 215 | 250 28 28 28 28 28 28 - - - - -
100/112B14 | 110 | 130 | 160
SWO090 90B5 130 | 165 | 200 24 24 24 24 24 24 24 24 24 - -
90B14 95 115 | 140
80B5 130 | 165 | 200 - - - - - - 19 19 19 19 19
80B14 80 100 | 120
13285 230 | 265 | 300 38 38 38 38 - - - - - - -
100/112B5 | 180 | 215 | 250 28 28 28 28 28 28 28 28 28 - -
SW105/110 90B5 130 | 165 | 200 - - - - 24 24 24 24 24 24 | 24
80B5 130 | 165 | 200 - - - - - - - - - 19 19

EMEFBEAZH BHFEBAMILRTE. TS MMA.

Notes: if the input flange with square, worm shaft core size, can add the other instructions.

10



CAN

TRANSMISSION

B SW [fIEE R~ Dimensions for SW Bracket

L A B C D E
030 55 50 66 80 80 ®7

72 52 81 98 920 b7
040

71 70 84 100 96 ®7

82 63 98.5 124 110 ®9
050

85 85 96-99 116 112 ®9
063 100 95 111 138 140 b12
075 115 120 115 142 160 b12

142 140 140-146 180 200 ®13
090

150 160 164 195 210 ®13

172 200 160-181 208 250 ®13

105/110
170 200 160-181 208 250 »13

11




SW SERIES



http://www.pdfxviewer.com/
http://www.pdfxviewer.com/

